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Second Year, Examination-2015

MAEC-05

International Economics

(varjkZ"Vªh; vFkZ'kkL=k)
Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained
in these sections according to the detailed instructions
given therein.

uksV % ;g iz'u&i=k lkB (60) vadksa dk gS tks rhu (03) [kaMksa d] [k rFkk
x esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa ds
vuqlkj gh iz'uksa dks gy djuk gSA

Section - A @ [k.M&d

(Long Answer Type Questions)@(nh?kZ mÙkjksa okys iz'u)

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners are
required to answer any two (02) questions only.

(2×15=30)

uksV % [k.M ̂ d* esa pkj (04) nh?kZ mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, iUæg vad fu/kZfjr gSa A f'k{kkfFkZ;ksa dks buesa ls
dsoy nks iz'uksa ds mÙkj nsus gSa A
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4. Critically evaluate Ricardo's Comparative-Cost Theory of

International trade.

fjdkMksZ ds varjkZ"Vªh; O;kikj ds rqyukRed&ykxr ds fl¼kar dh

vkykspukRed O;k[;k dhft,A

2. Till what extent Heckscher-Ohlin theory is appropriate ?
Evaluate.

gSD'kpj&vksgfyu fl¼kar dgk¡ rd mi;qDr gS\ ewY;kadu dhft,A

3. Throw light on the reasons for imbalance in balance of

payments and its solutions.

Hkqxrku larqyu esa vlkE;rk ds dkj.k rFkk bldks nwj djus ds
mik;ksa ij izdk'k Mkfy,A

4. Explian the organization and works of  World Bank.

fo'o cSad ds laxBu ,oa dk;ks± dk o.kZu dhft,A

Section - B @ [k.M&[k

(Short Answer Type Questions) (y?kq mÙkjksa okys iz'u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [k.M ̂ [k* esa vkB (08) y?kq mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, ik¡p (05) vad fu/kZfjr gaS A f'k{kkfFkZ;ksa dks buesa
ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSa A

1. Terms of Trade

O;kikj dh 'krs±
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2. Opportunity cost

volj ykxr

3. Leontief  Paradox

fy;ksufViQ fojks/kHkkl

4. Indifference Curve

vf/eku oozQ

5. Tariff

iz'kqYd uhfr

6. Export-Import

vk;kr&fu;kZr

7. European Money Market

;wjksih; eqnzk cktkj

8. Offer Curve

vkWiQj oozQ

Section - C @ [k.M&x

(Objective Type Questions) @ (oLrqfu"B iz'u)

Note : Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10×1=10)

uksV % [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x, gSa] izR;sd iz'u
ds fy, ,d (01) vad fu/kZfjr gS A bl [k.M ds lHkh iz'u
vfuok;Z gSa A
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Choose the correct option :

lgh fodYi pqfu;s %

1. Who propounded, the theory of opportunity cost, in
International Trade ?

(a) Ricardo (b) Heckscher-Ohlin

(b) Adam Smith (d) None of these

varjkZ"Vªh; O;kikj esa] volj ykxr fl¼kar fdlus izfrikfnr
fd;k\

(v) fjdkMksZ (c) gSD'kpj&vksgfyu

(c) ,Me fLeFk (n) buesa ls dksbZ ugha

2. The meaning of 'Laissez faire' is :

(a) Absence of market interference

(b) Absence of government interference

(c) A and B both

(d) None

vgLr{ksi dk vFkZ gS &

(v) cktkj dk gLr{ksi u gksuk

(c) ljdkjh gLr{ksi u gksuk

(l) v ,oa c nksuksa

(n) dksbZ ugha

3. The technique of offer curve is developed by :

(a) Alfred marshal and Edgeworth
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(b) J. S. Mill and Edgeworth

(c) Ricardo and Alfred Marshal

(d) None of these

izLrko oozQ dh rduhdh dks fodflr fd;k %

(v) vYizsQM ek'kZy ,oa ,toFkZ us

(c) ts- ,l- fey ,oa ,toFkZ us

(l) fjdkMksZ ,oa vYizsQM ek'kZy us

(n) buesa ls dksbZ ugha

4. The profit from trade is :

(a) Profit from exchange

(b) Profit from Specialisation

(c) Both of these

(d) None

O;kikj ls ykHk gS %

(v) fofue; ls ykHk

(c) fof'k"Vhdj.k ls ykHk

(l) nksuksa ls

(n) buesa ls fdlh ls ugha

5. Transportation costs include :

(a) Freight charges

(b) Warehousing costs
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(c) Costs associated with loading and unloading shipments

(d) all these

<qykbZ ykxr esa 'kkfey gS &

(v) HkkM+k izHkkj

(c) HkaMkj.k ykxr

(l) ynku vkSj mrjkbZ dh ykxrsa

(n) ;s lHkh

6. According to the factor endowment theory, nations heavily
endowed with labor will :

(a) Import more labor intensive goods

(b) Export more labor intensive goods

(c) Both A and B

(d) None

lk/u laiUu fl¼kar ds vuqlkj] Je laiUu ns'k djsxk&

(v) Je xgu oLRqvksa dk vk;kr

(c) Je xgu oLrqvksa dk fu;kZr

(l) v ,oa c nksuksa

(n) dksbZ ugha

7. Which of the following is not an example of capital rich
nation ?

(a) Canada (b) Germany

(c) Bangladesh (d) Italy
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buesa ls dkSu iw¡th le`¼ ns'k ugha gS\

(v) dukM+k (c) teZuh

(l) ckaXykns'k (n) bVyh

8. The European Monetary System is the most resembles a :

(a) Fixed exchange rate system

(b) A managed exchange rate system

(c) A crawling peg system.

(d) None

;wjksfi;u eqnzk iz.kkyh lcls T;knk Lo:i gS %

(v) fu;r fofue; nj iz.kkyh ds

(c) izcaf/r@dke;kc fofue; nj iz.kkyh ds

(l) f?klVrh gqbZ iz.kkyh ds

(n) fdlh ds Hkh ugha

9. Adam smith advocated :

(a) Free Trade

(b) Custom Duty

(c) Quantitative Restriction

(d) None of these

,Me fLeFk us odkyr dh %

(v) eqDr O;kikj (c) lhek 'kqYd la?k

(l) ek=kkRed izfrcU/ (n) buesa ls dksbZ ugha
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10. The stage of balance of payments is :

(a) Always balanced (b) Never balanced

(c) always in loss (d) Always in profit

Hkqxrku larqyu dh n'kk gksrh gS &

(v) lnSo larqfyr (c) dHkh larqfyr ugha

(l) ges'kk ?kkVs esa (n) ges'kk ykHk esa


